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Total Marks : 200

Question Number : 1 Question Id : 7507821031 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

In the year 1879, British killed Daulatrav Ramoshi. He was the associate of
who among the following ?

a. Balasaheb Deshmukh (Shirur, Pune)

b. Shubham Nikam (West Malwa)

c. Vasudev Balawant Phadake (Shirdhon, Raigad)

d

Nana Sawant (Sawantwadi)



, onlyaandb

, only b
;3 only ¢

4 only cand d

Question Number : 1 Question Id : 7507821031 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5

T 26’ Ul fafea Seaua Tl I8 3R Fel. d Wieiladh! SivmE ghn! ald 7
a. weEEd oa (fre, gor)

b. wvw F=n (gfvam Aresan)

c. aHed S349d Bk (fIngn, Te)

d. A 9Ed (FrEaare)

Options :

LW&&-‘:‘Iﬁb

> ®ed b
3_%(:

4 F&d ¢ 3o d



Question Number : 2 Question Id : 7507821032 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following pair is not correct ?

Options :
1 Yugantar Samiti —  Bhupendranath Dutta
, Anusheelan Samiti - P. Mitra

3. Navjawan Bharat Sabha - Sardar Bhagat Singh
. Indian National Army — Chandrashekhar Azad

Question Number : 2 Question Id : 7507821032 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 3 Question Id : 7507821033 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following statements are correct regarding to Karmaveer Vitthal
Ramji Shinde ?

a. ‘Depressed Classes Mission’ was established at Mumbai in 1906.

b. The Farmer Conference was held at Pune in 1928.

c. ‘Bharatiya Asprushyatecha Prashna’ was his important book.
Options :

{ only a and b

5 only a and ¢

; only band c

4 all of the above

Question Number : 3 Question Id : 7507821033 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 4 Question Id : 7507821034 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which book was written to counter the controversial claims made by a
Gujarati Brahmin Woman, Vijayalaxmi about foeticide ?

Options :

. Saktiche Vaidhavya (Mahatma Phule)

, Stri-Dharm Niti (Pandita Ramabai)

3 Stri-Purush Tulana (Tarabai Shinde)



4 Social Change in Gujarat (Nira Desai)

Question Number : 4 Question Id : 7507821034 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Options :
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Question Number : 5 Question Id : 7507821035 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The construction of Grand Trunk Road and Ganges Canal was started during
which of the following Governor General’s regime ?
Options :

L Lord Curzon



, Lord Dalhousie

3 Lord Cornwallis

4 Lord Wellesley

Question Number : S Question Id : 7507821035 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 6 Question Id : 7507821036 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Which District has the minimum forest area in Maharashtra ?
a. Nashik
b. Chandrapur
c. Kolhapur
d. Latur
Options :
| Only a

, Only c
;. Only b

4 Only d

Question Number : 6 Question Id : 7507821036 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 7 Question Id : 7507821037 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The length of Konkan Railway line in Maharashtra is km.

Options :
| 382

2. 428
3, 068

4 152

Question Number : 7 Question Id : 7507821037 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 8 Question Id : 7507821038 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In Maharashtra, there 1s a Match Box Manufacturing Centre at

a. Ambarnath
b. Pune
c. Sangh
d. Parbhani
Options :
;. Only a

», Only b

;3 Only d

4 Only ¢

Question Number : 8 Question Id : 7507821038 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Wrong Marks : 0.5



H.  FEEY
%

&, HNTe
A T L

Options :
] B A

2. Bd §

3, A S

4, HFd &

Question Number : 9 Question Id : 7507821039 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
State the names of river on the Plateau of Deccan in Maharashtra.

a. Ganga
b. Yamuna
c. Godavari

d. Mahanadi
Options :
. Only a



5 Only c
3 Only b and d

4 Only aand b

Question Number : 9 Question Id : 7507821039 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 10 Question Id : 7507821040 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Wrong Marks : 0.5

Which District of Maharashtra has the highest iron ore production ?
Options :

. Chandrapur

> Amaravati

3 Akola

4 Yavatmal

Question Number : 10 Question Id : 7507821040 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 11 Question Id : 7507821041 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
District Planning Committee at the district level has been established as per

Article _of Indian Constitution.
Options :
| 243Y

, 243 Z
; 243 ZB

4 243 ZD

Question Number : 11 Question Id : 7507821041 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Hle.
Options :

243Y

1

, 243Z

; 243 ZB



4 243 ZD

Question Number : 12 Question Id : 7507821042 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Main objectives of Jalswarajya Yojana are
Options :

. Women Empowerment, River cleaning, Healthy Rural Life
5 Pure Water Supply, Women Empowerment, Healthy Rural Life

River Cleaning, River Connection Scheme, Water Supply through
; Tankers

4 River Connection Scheme, Pure Water Supply, Construction of Borewells

Question Number : 12 Question Id : 7507821042 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 13 Question Id : 7507821043 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

With reference to the Section 2(n) of Right to Information Act — 2005, consider

the following statements.

Statement I : A third party is a person other than the citizen making a
request.

Statement II : Third party includes a public authority also.

Options :

{ Statement I is correct, Il 1s incorrect

5 Statement Il is correct, 1 is incorrect
3 Both the statements are correct

4 Both the statements are incorrect

Question Number : 13 Question Id : 7507821043 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 14 Question Id : 7507821044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Examine the validity of the following sentences as per Section 9 of the Right to
Information Act — 2005.

Without prejudice to the provisions of Sec. 8, a Central Public Information
Officer may reject a request for information where such a request for providing
access would involve an infringement of copyright subsisting in a person other
than the State.

Options :

. True



, False

3 Partially true

4 Sometimes true

Question Number : 14 Question Id : 7507821044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 15 Question Id : 7507821045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



As per Section 2(i) under the Right to Information Act — 2005, the definition of
‘Record’ includes

a. Any document

b. Any microfilm

c. Any reproduction of image

d. Any other material produced by a computer

Choose correct option.
Options :

;. Only a and b are correct

, Only a, b and c are correct

; Only b and c are correct

4 All the above are correct

Question Number : 15 Question Id : 7507821045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5
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Question Number : 16 Question Id : 7507821046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following International Organization was established in 1972 for
organic farming organizations ?

Options :

.. The Institute and Faculty of Organic Actuaries Management



, International Federation of Organic Agriculture Movement

; International Forward Osmosis Association for Organic Farming

A International Integrated Form of Agreement for Organic Farming

Question Number : 16 Question Id : 7507821046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 17 Question Id : 7507821047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Employment Guarantee Scheme was started in Maharashtra on the
recommendation of



Options :
! Sharad Pawar

, Gopinath Munde
;. V. S. Page

4, Dhananjay Gadgil

Question Number : 17 Question Id : 7507821047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 18 Question Id : 7507821048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



The Government of Maharashtra constituted a State Board for export
promotion in the month of

Options :

| January, 1960

> August, 2011

3 November, 1991

4 June, 1965

Question Number : 18 Question Id : 7507821048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 19 Question Id : 7507821049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

According to the Tourism Report of the Government of India in the year 2012,
about % of the foreign tourists visiting India, visited Maharashtra.

Options :
| 81.75

, 72.24
5 24.72

, 15.24

Question Number : 19 Question Id : 7507821049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 20 Question Id : 7507821050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

In 1960, which Committee was appointed by the Government of India to draw
up a Master Plan for the development of ports on the Konkan Coast ?

Options :

;. Kelkar Committee

» Sarkaria Committee
;. Rau Committee

4 Raja Chelliah Committee

Question Number : 20 Question Id : 7507821050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 21 Question Id : 7507821051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
An organization funded research on networking for the U.S. Defense Department.

A major research project developed a Wide Area Network to determine whether
packet switching technology could be used in battlefield conditions, is known as

Options :
;. NICNET

» ARPANET

;, ERNET

4 INDONET

Question Number : 21 Question Id : 7507821051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 22 Question Id : 7507821052 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Match the following software update and its description.

a. Hotfix 1. Designed to fix bug or security role in a program

b. Patch 1. Contains several updates for software applications or

operating system
c. Service pack iii. Design to insert a code into existing executable program
Options :
a b c
L 111 1



5 i i iii
a b c
3 1l il 1
a b c
4. 1 ii iii

Question Number : 22 Question Id : 7507821052 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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3 111 11 1
a b c
4 1 11 111

Question Number : 23 Question Id : 7507821053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The Government of India has introduced programme under which
all the sectors such as healthcare, retail, e-India, Governance, Grow up India
etc. will be connected through internet.

Options :

. e-India

, e-Healthcare
5 Digital India

4 e-Grow up India

Question Number : 23 Question Id : 7507821053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 24 Question Id : 7507821054 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

project of the Government aims to take computer education to
60,000 schools across the country.

Options :

. Media Lab Asia

) Vidya Vahini
;. IT Lab Asia
4 Gyan Vahini

Question Number : 24 Question Id : 7507821054 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 25 Question Id : 7507821055 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Match the following devices in computer networking and their function.

Device Function
a. Hub i. Connect devices in computer networking
b. Bridge 1. Connect two different networks
c. Router iii. Broadcast data to every computer
d. Switch iv. Send the data with shortest path
Options :

a b c d

Ll i v 1i



5 1 1 v 1ii
a b c d
3 i iii v i
a b c d
4 i ii iv i

Question Number : 25 Question Id : 7507821055 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 26 Question Id : 7507821056 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5

Pink hydrogen is generated through electrolysis powered by
Options :
| Solar energy

, Nuclear energy
3 Wind energy

4 Mechanical energy

Question Number : 26 Question Id : 7507821056 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5
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Question Number : 27 Question Id : 7507821057 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Wrong Marks : 0.5

Match List - I (sports persons) with List — Il (sports) and select correct option

given below :

List - I

(Sports persons)
Anjali Bhagwat
Veerdhawal Khade
Khashaba Jadhav
d. Viren Rasquinha

o op

Options :

L &=, b—-iv, c—1i,

2.a—ii, b -1, C—1v,

; @ iv, b-iii, c-1i,
a-1i, b-1, c—1v,

4.

d-1i
d - iii
d - ii
d-ii

ii.
11i.
V.

List - II
(Sports)
Swimming
Hockey
Shooting
Wrestling



Question Number : 27 Question Id : 7507821057 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5
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Options :

| a—ii, b-iv, e-i, d-ii
, B=iy b=1, c—-1iv, d-iii

; a—-1v, b-ii, c-1, d-ii

4.a—iii, b -1, c-1wv, d-1

Question Number : 28 Question Id : 7507821058 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



= ” was a British hymn, which was dropped from India’s annual
Republic Day celebrations from January 2022 as a part of the ongoing
process of decolonisation.

Options :

{ Bind us together

) Abide with me
; Amazing grace

4 Rock of ages

Question Number : 28 Question Id : 7507821058 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5
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Question Number : 29 Question Id : 7507821059 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Identify the place on the basis of following features.
a. Itis a lake created due to a meteorite.
b. Itis a protected place as a wildlife sanctuary.
c. Itis the only major lake in the basalt rock.

d. Its water 1s alkaline.
Options :

L Venna lake

5 Khindsi lake

3. Lonar lake

n Tansa lake

Question Number : 29 Question Id : 7507821059 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 30 Question Id : 7507821060 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The Faceless Assessment Scheme is one of the biggest in India.

Options :

. University Level Assessment Scheme

, Assessment Scheme used by central schools

3 Direct tax reforms



4 Criminal Investigation systems

Question Number : 30 Question Id : 7507821060 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 31 Question Id : 7507821061 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In a code language 6 = 180, 3 = 18, 10 = 900, then 9 =?

Options :
. 100

2 240



3 294

4 648

Question Number : 31 Question Id : 7507821061 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

U] Hichide 98A 6 = 180, 3 =18, 10 =900, @9 = ?
Options :
. 100

, 240

3 294

4 648

Question Number : 32 Question Id : 7507821062 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Total 11 cricket teams were participated in sport festival. Every team played
one match against another team. The four teams selected from these matches,
played one match each against each other. Finally two teams were selected
which played final match. How many matches were played in the tournament
of sport festival ?

Options :



4. 65

Question Number : 32 Question Id : 7507821062 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

T 11 TFehes 9 TRl AErcTaTa HRNTH S, Soie HYH gE HEEEd Yodwh! U ETHT
Wedll. A1 GG 9R FarE fag Fvaa aefl. ardia vl gum gaen derErEd o U
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Options :
1. 95

, 61
3 62

4. 65

Question Number : 33 Question Id : 7507821063 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Find out the numbers which replaces the question mark.

9,19, 61, 187, 7
Options :
| 289

, 397
3 491

4 565

Question Number : 33 Question Id : 7507821063 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
TeAraErea AR vt TET I$A o I
3, 19,61, 187, 7
Options :
L 289
7. 397
3 491

4 565



Question Number : 34 Question Id : 7507821064 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Observe the correlation between the first two terms and find the
corresponding term in place of question mark.

85 :29 20827
Options :
1 30

2. 32
3. 34

4. 36

Question Number : 34 Question Id : 7507821064 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

fEca 24 SEIE SHEEY S U3 YT fewmfl At g .
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Options :

1. 30

2. 32

3 34



Question Number : 35 Question Id : 7507821065 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

On each side of a square ground having side 50 meter, trees to be planted at
an equal distance of 5 meter. How many trees can be planted on the side of
square ground ?

Options :

. 20

5 44

3 42

4. 40

Question Number : 35 Question Id : 7507821065 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

50 Hiel FS=A1 SRATHRdl HEFTAT e s 5 HieK IFae Ush 18 Adead HgHr=al
FHee1 THY fohdt A SAEar I ?

Options :

1. 20

) 44



3 42

4 40

Question Number : 36 Question Id : 7507821066 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Find the correct number in place of question mark from the given alternatives
and complete the number series.

22,26, 78,39, 117, ¢

Options :
{ 78.5

, 58.5
3,105.5

4. 78

Question Number : 36 Question Id : 7507821066 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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Options :



Question Number : 37 Question Id : 7507821067 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which one of the four interchanges in signs and numbers would make the
given equation correct ?

3-6+4=7
Options :
Lt and —, 6 and 3

, tand -, 4 and 6

3 tand -, 3 and 4

4t and -, 4and 7

Question Number : 37 Question Id : 7507821067 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
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3-6+4=7
Options :

+ 377f01 —, 6 37foT 3

1.

, + 3T —, 4 30T 6
3.+34Tﬁ1—,33nﬁ?4
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Question Number : 38 Question Id : 7507821068 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Wrong Marks : 0.5

If <’ means x’, +’ means ~’, x’ means “+’ and “’ means ‘+’, then solve the
following equation.

(B—4)x2—(2*+3)}+72="?

Options :

1 161

, 160

3,296



4 286

Question Number : 38 Question Id : 7507821068 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
S TRUN 7, TR ), %0 TRU 0T TR 4, T Eefiel FeieRt dre.
(8-4)x2—(2*+ 3 +72="7

Options :
1. 161

» 160
5 296

4 286

Question Number : 39 Question Id : 7507821069 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In a code language ‘RS’ is written as ‘OPUV’. How will you write ‘MN’ ?

Options :
1. JKPQ

, JKOP



; TKQR

4 IKST

Question Number : 39 Question Id : 7507821069 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

UshH Hihld® 9d ‘RS’ 2 ‘OPUV’ 3@ fafgel I, 7781 ‘MN’ 4 fegra 7
Options :

L JKPQ
, JKOP
; IKQR

4 TKST

Question Number : 40 Question Id : 7507821070 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Pointing to an old man, Sachin said, “His son is my daughters uncle”. How is
old man related to Sachin ?

Options :

. Brother



5 Uncle
3. Father

4 Grandfather

Question Number : 40 Question Id : 7507821070 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
giaefi wa1 gefuq 3me ?

Options :

Is Section Default? : null

Question Number : 41 Question Id : 7507821071 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Suction feeding found in
a. Rays

b. Shrimp

c. Crab

d. Prawn
Options :
1. Only a

, Only b

3 b,cand d

4 Only c

Question Number : 41 Question Id : 7507821071 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Suction feeding found in

a. Rays

b. Shrimp

c.. Crab

d. Prawn
Options :

1. Only a



, Only b

3 b,cand d

4 Only c

Question Number : 42 Question Id : 7507821072 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Spawning periodicity of fish is determined by studying
a. Gravimetric study
b. Morphological study
c. Ova diameter frequency
d. Bone study
Options :
;. Only a

5 Only b
N Only c

, Only d

Question Number : 42 Question Id : 7507821072 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5



Spawning periodicity of fish is determined by studying
a. Gravimetric study
b. Morphological study
c. Ova diameter frequency
d. Bone study
Options :
;. Only a

5 Only b
3. Only ¢

4 Only d

Question Number : 43 Question Id : 7507821073 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Torsion is the characteristics of
Options :

{ Gastropoda

5 Cephalopoda

3 Polyphora



4 Crustacea

Question Number : 43 Question Id : 7507821073 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Torsion is the characteristics of
Options :

{ Gastropoda

5 Cephalopoda

3 Polyphora

4 Crustacea

Question Number : 44 Question Id : 7507821074 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The example of slipmouth (Ponyfishes) is
Options :

{ Harpodon nehereus

, Leognathus equula



3 Nemipterus japonicus

4 Scoliodon palasorrah

Question Number : 44 Question Id : 7507821074 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The example of slipmouth (Ponyfishes) is
Options :

{ Harpodon nehereus

, Leognathus equula

3 Nemipterus japonicus

4 Scoliodon palasorrah

Question Number : 45 Question Id : 7507821075 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Beels fishery is dominated in the State of
Options :

1. Tripura

, Sikkim



3 Mizoram

4 Meghalaya

Question Number : 45 Question Id : 7507821075 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Beels fishery 1s dominated in the State of
Options :

1 Tripura

». Sikkim
3 Mizoram

4 Meghalaya

Question Number : 46 Question Id : 7507821076 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Giant freshwater prawn, Macrobruchium rosenbergii migrates for spawning
a. Freshwater to Brackish water

b. Brackish water to Marine water

c. Marine water to Freshwater

d. Freshwater to Marine water

Which of the statement given above is/are correct ?
Options :
| aonly

, a and b

;3 a,bandc

4a bandd

Question Number : 46 Question Id : 7507821076 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Giant freshwater prawn, Macrobruchium rosenbergii migrates for spawning
a. Freshwater to Brackish water
b. Brackish water to Marine water
c. Marine water to Freshwater
d. Freshwater to Marine water

Which of the statement given above 1s/are correct ?

Options :



| aonly
, aand b
;3 a,bandc

4a bandd

Question Number : 47 Question Id : 7507821077 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The term ‘bottom-up’ and ‘top-down’ effect is used to control.
Options :
{ Predatory fishes

, Phytoplankton

3 Zooplankton

4 Weedy fishes

Question Number : 47 Question Id : 7507821077 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The term ‘bottom-up’ and ‘top-down’ effect is used to control.
Options :



i Predatory fishes
, Phytoplankton

3. Zooplankton

4 Weedy fishes

Question Number : 48 Question Id : 7507821078 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Osphradium acts as a organ.
Options :
. Reproductive

5 Defense

;. Respiratory

4'bcnse

Question Number : 48 Question Id : 7507821078 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Osphradium acts as a organ.
Options :




, Reproductive

5 Defense

;. Respiratory

4.bcnse

Question Number : 49 Question Id : 7507821079 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following is not a micro-element of fish feed ?
Options :
| Cobalt

, Sulphur
;3 Fluorine

,. Nickel

Question Number : 49 Question Id : 7507821079 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following is not a micro-element of fish feed ?



Options :
. Cobalt

», Sulphur

3 Fluorine

;. Nickel

Question Number : 50 Question Id : 7507821080 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Fish feed additives that hold feed mixtures together as pellets
Options :

. Coagulant

, Binder

3 Roughage

4 Silage

Question Number : 50 Question Id : 7507821080 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Fish feed additives that hold feed mixtures together as pellets



Options :
. Coagulant

» Binder

3 Roughage

4 Silage

Question Number : 51 Question Id : 7507821081 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

State which of the following statement/statements is/are correct regard to
biofloc-based aquaculture systems ?

a. It provide comparatively biosecure, more environmentally benign and
financially sustainable aquaculture system.

b. Tilapia and shrimps are well suited to take advantages of natural productivity
in aquaculture systems.
c. It can be applied in ponds, tanks or raceways of various scale.
d. It targets super-intensive production of fishes in tanks or raceways.
Options :
| &, band c are correct

» b, c and d are correct

; & b and d are correct



48, C and d are correct

Question Number : 51 Question Id : 7507821081 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
State which of the following statement/statements is/are correct regard to
biofloc-based aquaculture systems ?

a. It provide comparatively biosecure, more environmentally benign and
financially sustainable aquaculture system.

b. Tilapia and shrimps are well suited to take advantages of natural productivity
in aquaculture systems.
c. It can be applied in ponds, tanks or raceways of various scale.
d. It targets super-intensive production of fishes in tanks or raceways.
Options :
&, band c are correct

» b, c and d are correct

, & b and d are correct

48 C and d are correct

Question Number : 52 Question Id : 7507821082 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Match the pairs of oyster species with their temperature tolerance.

Species Temperature tolerance (°C)

a. Crassostrea angulata i. 18.4-34.0

(Portuguese oyster)

b. Crassostrea rhizophorae il. 25-395

(Mangrove oyster)

c. Ostrea edulis . 15-25
(Flat oyster)

d. Crassostrea eradelie iv. 4 -22

(Slipper oyster)
Options :

a-i,b-iv,c-ii, d-ii

a—-1, b-ill,c—1iv,d -1

2
3 a—1ii,b-1,c—iv,d -1
A a—iv, b—1, c—ii, d —iii

Question Number : 52 Question Id : 7507821082 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Wrong Marks : 0.5
Match the pairs of oyster species with their temperature tolerance.

Species Temperature tolerance (°C)

a. Crassostrea angulata i. 18.4-34.0

(Portuguese oyster)

b. Crassostrea rhizophorae il., 25-395

(Mangrove oyster)

c. Ostrea edulis . 15-25
(Flat oyster)

d. Crassostrea eradelie iv. 4 -22

(Slipper oyster)

Options :
{ a-1,b-1v,c-1,d-11

, &=l b=, e~iv, d—i

, a—iii, b—i, c—iv, d i

, @—1iv, b—i, c—ii, d —iii



Question Number : 53 Question Id : 7507821083 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Match the fish culture systems with their practices.

a. Composite fish culture i. Intensive culture of tilapia with minimal water
exchange, provision of vigorous aeration and

maintaining C/N ratio above 10

b. Aquaponics i1. Culture of catla, rohu and mrigal

c. Biofloc system ii1. Tilapia culture in recirculatory aquaculture
system in integration with hydroponics

d. Integrated Multitrophic iv. Cage culture of marine fish + sea weed

Aquaculture (IMTA) culture + oyster/mussel culture

Options :

a b c d
| v iii 1

a b c d
5 IV 11i ii 1

a b c d
3 11 i 1 v

a b c d

i i i1 v

Question Number : 53 Question Id : 7507821083 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Wrong Marks : 0.5

Match the fish culture systems with their practices.

a. Composite fish culture i. Intensive culture of tilapia with minimal water
exchange, provision of vigorous aeration and
maintaining C/N ratio above 10

b. Aquaponics ii. Culture of catla, rohu and mrigal

c. Biofloc system iii. Tilapia culture in recirculatory aquaculture
system in integration with hydroponics

d. Integrated Multitrophic  iv. Cage culture of marine fish + sea weed

Aquaculture (IMTA) culture + oyster/mussel culture

Options :

a b c d
|1 iv iii i

a b c d
5 1V 11 i 1

a b c d
3 il iii i iv

1 11 111 v

Question Number : 54 Question Id : 7507821084 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In hatchery, the protozoeal stages of Litopenaeus vannamesi are fed with




Options :
{ Chironomid larvae

» Instar II Artemia

3 Tubifex worms

4 Chaetoceros spp., Skeletonema spp. and Tetraselmis spp.

Question Number : 54 Question Id : 7507821084 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In hatchery, the protozoeal stages of Litopenaeus vannamei are fed with

Options :
{ Chironomid larvae

» Instar Il Artemia

3 Tubifex worms

4 Chaetoceros spp., Skeletonema spp. and Tetraselmis spp.

Question Number : 55 Question Id : 7507821085 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following does not belong to extensive aquaculture ?



Options :
, Carp culture in lakes and reservoirs

, Cage culture of tilapia

3 Tide-fed shrimp farming

4, Mud crab farming in tidal ponds in mangroves

Question Number : 55 Question Id : 7507821085 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following does not belong to extensive aquaculture ?
Options :
, Carp culture in lakes and reservoirs

, Cage culture of tilapia

3 Tide-fed shrimp farming

, Mud crab farming in tidal ponds in mangroves

Question Number : 56 Question Id : 7507821086 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Which of the following is not a component of a fish hatchery ?
a. Broodstock holding area
b. Spawning area
c. Larval rearing area
d. Early nursery section
Options :
| Only a

> aand b

;8 bandc

4 & b, cand d

Question Number : 56 Question Id : 7507821086 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following is not a component of a fish hatchery ?
a. Broodstock holding area
b. Spawning area
c. Larval rearing area
d. Early nursery section
Options :
| Only a



, aand b

; 8 bandc

4 @ b,cand d

Question Number : 57 Question Id : 7507821087 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

In which of the following cases will the carrying capacity of a pond be the
highest ?

a. Complete feeding with aeration

b. Organic fertilization

c. Supplemental feeding

d. No feed or fertilization
Options :
L only a

, only b

3. a and c

4 & bandd

Question Number : 57 Question Id : 7507821087 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Wrong Marks : 0.5
In which of the following cases will the carrying capacity of a pond be the
highest ?
a. Complete feeding with aeration
b. Organic fertilization
c. Supplemental feeding
d. No feed or fertilization
Options :
L only a

, only b
3 a and c

4 & bandd

Question Number : 58 Question Id : 7507821088 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following is the correct identification of aquarium plant ?
Options :
Floating plant; family; Pontederiaceae, ceratopteris thallctroides
| (water sprite)

Submerged plant; rooted plant; family; Araceae; Acorus calamus
5 (sweet flag)



Submerged plant; bunched plant; family; Nymphacaceae; Ceratophyllum
demersum (Hornwort)

3

A Emergent plant; family; Gentianaceae; Nuphar luteum (Yellow water lily)

Question Number : 58 Question Id : 7507821088 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following is the correct identification of aquarium plant ?
Options :
Floating plant; family; Pontederiaceae, ceratopteris thallctroides
| (water sprite)

Submerged plant; rooted plant; family; Araceae; Acorus calamus
5 (sweet flag)

Submerged plant; bunched plant; family; Nymphacaceae; Ceratophyllum
demersum (Hornwort)

3

A Emergent plant; family; Gentianaceae; Nuphar luteum (Yellow water lily)

Question Number : 59 Question Id : 7507821089 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which is the deepest freshwater lake in the world ?
Options :



. Lake superior

, Capsian sea
3 Great lake

4 Lake Baikal

Question Number : 59 Question Id : 7507821089 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which is the deepest freshwater lake in the world ?
Options :
. Lake superior

, Capsian sea
3. Great lake

4 Lake Baikal

Question Number : 60 Question Id : 7507821090 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The water body is highly productive due to higher fluctuation of water level,
tides serving to remove wastes and to transport food and nutrients



Options :
. River

» Estuaries
3 Sea
4 Canal

Question Number : 60 Question Id : 7507821090 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The water body is highly productive due to higher fluctuation of water level,
tides serving to remove wastes and to transport food and nutrients

Options :
. River

» Estuaries
3 Sea
4 Canal

Question Number : 61 Question Id : 7507821091 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Which substances are released on the autolysis of phytoplankton and other
biota during active growth in aquaculture pond ?

Options :

. Total suspended solid

, Total suspended particles

;. Dissolved organic compounds

4 Total physical particles

Question Number : 61 Question Id : 7507821091 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which substances are released on the autolysis of phytoplankton and other
biota during active growth in aquaculture pond ?

Options :
. Total suspended solid

, Total suspended particles
Dissolved organic compounds

3

4 Total physical particles



Question Number : 62 Question Id : 7507821092 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Cyclops is a copepods used as zooplankton for feeding of fish larvae
a. Above sentence is correct
b. Above sentence is wrong
c. Itis a Daphnia
d. Itis a Moina
Which one is correct ?

Options :
1,2

2. b

c and d

(8]

Question Number : 62 Question Id : 7507821092 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Cyclops is a copepods used as zooplankton for feeding of fish larvae
a. Above sentence is correct

b. Above sentence is wrong

c. Itis a Daphnia

d. Itis a Moina

Which one is correct ?
Options :
1. &

2. b

candd

[98)

Question Number : 63 Question Id : 7507821093 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The Aleutians are located in the ocean.
Options :
I_Aﬂanﬂc

» Pacific

3 Indian



4 All the above

Question Number : 63 Question Id : 7507821093 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The Aleutians are located in the ocean.
Options :
L Atlantic

» Pacific
3 Indian

n All the above

Question Number : 64 Question Id : 7507821094 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

_can be considered under physical oceanography.
Options :
{ Optics

» Bastic

;. Marine Ecology



4 Marine Biology
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_can be considered under physical oceanography.
Options :
L Optics

», Bastic
;3 Marine Ecology

4 Marine Biology

Question Number : 65 Question Id : 7507821095 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

ICZM stands for
Options :
{ International Coastal Zone Management

, Intertidal Coast Zone Management

;. Integrated Coast Zone Management



4 Integrated Coastal Zone Management

Question Number : 65 Question Id : 7507821095 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

ICZM stands for

Options :

L International Coastal Zone Management

) Intertidal Coast Zone Management

;. Integrated Coast Zone Management

4 Integrated Coastal Zone Management

Question Number : 66 Question Id : 7507821096 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The oceanic province extending from 1000 to 4000 meter depth is known as
Options :

L Abyssopelagic

, Bathypelagic

; Mesopelagic



4 None of these
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Wrong Marks : 0.5

The oceanic province extending from 1000 to 4000 meter depth is known as
Options :

L Abyssopelagic

, Bathypelagic
;. Mesopelagic

4 None of these

Question Number : 67 Question Id : 7507821097 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which statement(s) is/are correct with regard to design of a fish pond ?

a. The narrower side of a rectangular pond should be oriented parallel to the
direction of prevailing wind.

b. A slope (horizontal : vertical) to the bottom of a pond is given preferably in
the ratio of 1000 : 3 to 1000 : 6.

c. A square pond is economical to construct than a rectangular pond having
same area and cross-sectional area of dykes.

Options :



, 4 only

7 both a and b

3. both a and ¢

4 both bandc
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Wrong Marks : 0.5
Which statement(s) is/are correct with regard to design of a fish pond ?
a. The narrower side of a rectangular pond should be oriented parallel to the
direction of prevailing wind.

b. A slope (horizontal : vertical) to the bottom of a pond is given preferably in
the ratio of 1000 : 3 to 1000 : 6.
c. A square pond is economical to construct than a rectangular pond having
same area and cross-sectional area of dykes.
Options :

. a only

, bothaandb

3 both a and ¢



4 both bandc

Question Number : 68 Question Id : 7507821098 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following is/are not an example of encirculing net ?
Options :
, Lampara net

, Purse seine
;. Ring net

4 All of these
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Which of the following is/are not an example of encirculing net ?

Options :
, Lampara net

, Purse seine

;. Ring net



4 All of these

Question Number : 69 Question Id : 7507821099 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

nets are triple-walled entangling type of net where interior netting
(lint) of smaller mesh size is inserted loosely between two wide-mesh
stretched outer walls.
Options :
| Shooting

) Trammel

3 Rampani

4 Dol
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Wrong Marks : 0.5
nets are triple-walled entangling type of net where interior netting
(lint) of smaller mesh size is inserted loosely between two wide-mesh
stretched outer walls.
Options :
;. Shooting



) Trammel

3 Rampani

4. Dol

Question Number : 70 Question Id : 7507821100 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

is a cone-shaped net which is towed by one or two boats, on the
bottom or mid-water.
Options :
1 Gill net

, Trawl net

3 Purse seine

4 Lift net
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is a cone-shaped net which is towed by one or two boats, on the
bottom or mid-water.

Options :



1 Gill net
, Trawl net

3 Purse seine

4 Lift net

Question Number : 71 Question Id : 7507821101 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following fishing methods belong to the static gear type ?
a. Gill nets
b. Trap nets
c. Pots
d. Longlines
Options :
, Only a

5 Only b

3 & b,cand d

, Only d
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Wrong Marks : 0.5
Which of the following fishing methods belong to the static gear type ?
a. Gill nets
b. Trap nets
c. Pots
d. Longlines
Options :
{ Only a

5 Only b

3 @ b,cand d

, Only d

Question Number : 72 Question Id : 7507821102 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following part helps in keeping the mouth of a single vessel
bottom trawl open ?

Options :

. Otter boards

5 Wing



3. Becket

4 Ground cable
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Which of the following part helps in keeping the mouth of a single vessel
bottom trawl open ?

Options :

. Otter boards

5 Wing

;. Becket

n Ground cable

Question Number : 73 Question Id : 7507821103 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
In pelagic fish, scombroid poisoning occurs due to
Options :
Presence of appreciable histidine in free state as well as bound in the protein
. of pelagic fishes



5 Conversion of free histidine by bacteria into histamine

;. Presence of amines such as cadaverine and putrescine

A All of the above
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In pelagic fish, scombroid poisoning occurs due to
Options :

Presence of appreciable histidine in free state as well as bound in the protein
. of pelagic fishes

5 Conversion of free histidine by bacteria into histamine

;. Presence of amines such as cadaverine and putrescine

. All of the above

Question Number : 74 Question Id : 7507821104 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5

A monitoring system that identifies, evaluates and controls hazards that are
significant for food safety

Options :



| ISO

, HACCP

, FSSAI

, BIS
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Instruction Time : 0

Wrong Marks : 0.5

A monitoring system that identifies, evaluates and controls hazards that are
significant for food safety

Options :
IS0

5 HACCP

, FSSAI

, BIS

Question Number : 75 Question Id : 7507821105 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The most potential source of alginate is



Options :

{ Red seaweeds

5 Green seaweeds

3 Brown seaweeds

4 Blue seaweeds
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The most potential source of alginate is
Options :

i Red seaweeds

5 Green seaweeds

3 Brown seaweeds

4 Blue seaweeds

Question Number : 76 Question Id : 7507821106 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5



The gills of a very fresh fish are
Options :
| Bright blood red and have fresh seaweedy smell

5 Red with thick mucus

3. Brown

4 Green
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The gills of a very fresh fish are

Options :

| Bright blood red and have fresh seaweedy smell

5 Red with thick mucus

3 Brown

4 Green

Question Number : 77 Question Id : 7507821107 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



is a small scale, low cost and labour intensive fishery in which the
catch is sold and consumed locally.

Options :
| Subsistence fishery

, Artisanal fishery

, Industrial fishery

4 None of the above
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is a small scale, low cost and labour intensive fishery in which the

catch is sold and consumed locally.

Options :
| Subsistence fishery

5 Artisanal fishery

, Industrial fishery

4 None of the above



Question Number : 78 Question Id : 7507821108 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The maximum inland fish catches are reported from continent on
global level.
a. Europe
b. Asia
c. Australia
d. Africa

Which of the given option is correct ?
Options :
1, &

2. b
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The maximum inland fish catches are reported from continent on
global level.

a. Europe

b. Asia

c. Australia

d. Africa

Which of the given option is correct ?
Options :
1.

Question Number : 79 Question Id : 7507821109 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
The experiment which does not yield the same result when repeated under

the same condition
Options :
, Random experiment

, Deterministic experiment



, Both (1) and (2)

4 None of the above
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The experiment which does not yield the same result when repeated under
the same condition

Options :

L Random experiment

, Deterministic experiment
, Both (1) and (2)

4 None of the above

Question Number : 80 Question Id : 7507821110 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5



In 1979, which product is introduced by Marine Product Export Development
Authority in International Market under newly established research and
product development division.

a. Frozen crab
b. Raw and cooked head-on-shrimp
c. White leg shrimp
d. Frozen tilapia
Options :
 Onlya

, Only b
3 Only c

. Only d
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In 1979, which product is introduced by Marine Product Export Development
Authority in International Market under newly established research and
product development division.

a. Frozen crab

b. Raw and cooked head-on-shrimp
c. White leg shrimp

d. Frozen tilapia



Options :
, Only a

, Only b
3 Only c

. Only d

Question Number : 81 Question Id : 7507821111 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Organizational chart of the Department of Fisheries, Maharashtra State is
headed by

Options :

| Secretary

) Commissioner

3 Joint Commissioner

A None of these

Question Number : 81 Question Id : 7507821111 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Wrong Marks : 0.5



Organizational chart of the Department of Fisheries, Maharashtra State is
headed by

Options :
| Secretary

) Commissioner

3 Joint Commissioner

4 None of these

Question Number : 82 Question Id : 7507821112 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

What materials are usually the main reasons for dissolved oxygen depletion
in prawn pond ?

Options :

. Fish and prawn

5 Phytoplankton bloom and decaying waste

3. Biofilters and sand filters

4 Coal and stones



Question Number : 82 Question Id : 7507821112 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

What materials are usually the main reasons for dissolved oxygen depletion
in prawn pond ?

Options :

. Fish and prawn

5 Phytoplankton bloom and decaying waste

3. Biofilters and sand filters

4 Coal and stones

Question Number : 83 Question Id : 7507821113 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following fish seed is not produced at Government fish seed
production and rearing unit in Maharashtra ?

Options :
| Rohu (Labeo rohifa)

5 Mrigal (Cirrhinus cirrhosis)

3 Catla (Catla catla)



4, Magur (Clarius batrachus)
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Which of the following fish seed is not produced at Government fish seed
production and rearing unit in Maharashtra ?

Options :
. Rohu (Labeo rohifa)

5 Mrigal (Cirrhinus cirrhosis)
3 Catla (Catla catla)

4, Magur (Clarius batrachus)

Question Number : 84 Question Id : 7507821114 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
When the policy on Fish Farming in Impounded Waters, came into existence ?

Options :
. © September, 2010

, 8 September, 2010



; 18 September, 2010

4 28 September, 2010
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When the policy on Fish Farming in Impounded Waters, came into existence ?

Options :
. O September, 2010

, 8 September, 2010

3 18 September, 2010

4. 28 September, 2010

Question Number : 85 Question Id : 7507821115 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Who is the Reviewing Authority for Tank Lease Dispute for tank area above
1000 hectare ?

Options :

) Commissioner



) Minister of Fisheries

, Secretary

4 State Information Commissioner
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Who is the Reviewing Authority for Tank Lease Dispute for tank area above
1000 hectare ?

Options :

L Commissioner

) Minister of Fisheries

, Secretary

4 State Information Commissioner

Question Number : 86 Question Id : 7507821116 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Following is not criteria to get rebate on High Speed Diesel oil (HSD).
Options :



Fishing boat owner should be BPL

The fishing boats fishing in the fishing ban period are not eligible to avail
benefits of this scheme

Boats shall be registered as fishing boat

Diesel shall be purchased only in the diesel pump approved by Civil Supply
Department
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Wrong Marks : 0.5
Following is not criteria to get rebate on High Speed Diesel oil (HSD).

Options :

| Fishing boat owner should be BPL

The fishing boats fishing in the fishing ban period are not eligible to avail

5 benefits of this scheme

, Boats shall be registered as fishing boat

Diesel shall be purchased only in the diesel pump approved by Civil Supply
4 Department



Question Number : 87 Question Id : 7507821117 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
As per corrected guidelines issued vide GR dtd. 13 Nov. 1995 of ADP

Department for construction of fishing craft proposed under NCDC
Grant-in-aid. The proposal of the societies who does not follow the provisions
of Maharashtra Marine Fishing Regulation Act, 1981 and also provide false
information regarding group members. The said proposals should not be
considered.

a. The above statement 1s correct
b. The above statement 1s not correct
c. The above statement is partially correct

d. The above statement is partially incorrect

Options :
. Option a is correct
5 Option b is correct

; Option ¢ and d are correct

, None of the above option is correct
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Wrong Marks : 0.5
As per corrected guidelines issued vide GR dtd. 13 Nov. 1995 of ADP

Department for construction of fishing craft proposed under NCDC
Grant-in-aid. The proposal of the societies who does not follow the provisions
of Maharashtra Marine Fishing Regulation Act, 1981 and also provide false
information regarding group members. The said proposals should not be
considered.

a. The above statement 1s correct
b. The above statement 1s not correct
c. The above statement is partially correct

d. The above statement is partially incorrect

Options :

;. Option a is correct

5 Option b is correct

3 Option ¢ and d are correct

, None of the above option is correct

Question Number : 88 Question Id : 7507821118 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Under the Scheme, providing infrastructure facilities on Fishing Landing
Centres Crash Programme which of the following construction works are being
carried out by Harbour division ?

Ramps for landing the fishing boats

Fish drying platforms

Open sheds

Approach roads

Drinking water facility

Toilet blocks

Removal of rocks in navigational channels of fishing boats
Guiding poles

Options :

. a,c,donly

R T T s B

, b,c, e, gonly

; a,b;c,d;e. f g h

4 I, g honly

Question Number : 88 Question Id : 7507821118 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Under the Scheme, providing infrastructure facilities on Fishing Landing
Centres Crash Programme which of the following construction works are being
carried out by Harbour division ?

Ramps for landing the fishing boats

Fish drying platforms

Open sheds

Approach roads

Drinking water facility

Toilet blocks

Removal of rocks in navigational channels of fishing boats
Guiding poles

R T T s B

Options :
. a,c,donly

, b,c, e, gonly

; a,b;c,d;e. f g h

4 §, g honly

Question Number : 89 Question Id : 7507821119 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

Which of the following is true regarding criteria for the beneficiaries of the
resistance on purchase of fishery requisites ?
Options :



| Institutional Finance is not essential while availing the scheme
, Age limit of beneficiaries is 18 to 30 years
3 Beneficiary should be a member of co-operative society

, There is no criteria such as beneficiary should be active fisherman only
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Wrong Marks : 0.5

Which of the following is true regarding criteria for the beneficiaries of the
resistance on purchase of fishery requisites ?

Options :

| Institutional Finance is not essential while availing the scheme

, Age limit of beneficiaries is 18 to 30 years
3 Beneficiary should be a member of co-operative society

, There is no criteria such as beneficiary should be active fisherman only

Question Number : 90 Question Id : 7507821120 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5



Brackish water fish farmer development agency in four coastal district in
Maharashtra were established in keeping objective (aim) as

Options :

L For development of coast

5 For betterment of coastal districts
3 To utilise resources at Harbours

To utilise maximum brackish water land for brackish water prawn

A culture
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Wrong Marks : 0.5

Brackish water fish farmer development agency in four coastal district in
Maharashtra were established in keeping objective (aim) as

Options :

, For development of coast

5 For betterment of coastal districts

3 To utilise resources at Harbours



To utilise maximum brackish water land for brackish water prawn

A culture

Question Number : 91 Question Id : 7507821121 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following is not a fisheries training center ?
Options :

L Malvan

5 Versova
; Naigaon

4, Alibag
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Wrong Marks : 0.5
Which of the following is not a fisheries training center ?
Options :

L Malvan

5 Versova



; Naigaon

4, Alibag

Question Number : 92 Question Id : 7507821122 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5

For running Ice factories/cold storages from co-operative societies from
marine area, how much concession is given in electricity charges ?
Options :

. Rs. 1.50 per electricity unit

, Rs. 0.90 per electricity unit

; Rs. 0.70 per electricity unit

A Rs. 0.40 per electricity unit
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For running Ice factories/cold storages from co-operative societies from
marine area, how much concession is given in electricity charges ?

Options :



. Rs. 1.50 per electricity unit

», Rs. 0.90 per electricity unit

3 Rs. 0.70 per electricity unit

A Rs. 0.40 per electricity unit

Question Number : 93 Question Id : 7507821123 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Wrong Marks : 0.5

Introduction of exotic aquatic species may pose risk in terms of
disease introduction and ecological interaction with possible threat to

Options :
. Genetic contamination ; native germ plasm

, Bacterial ; organ

;. Fungal ; water body

A Organ ; human body
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Introduction of exotic aquatic species may pose risk in terms of

disease introduction and ecological interaction with possible threat to
Options :
. Genetic contamination ; native germ plasm

, Bacterial ; organ

;. Fungal ; water body

A Organ ; human body

Question Number : 94 Question Id : 7507821124 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5
Which of the following is the nodal agency for Fisheries and Aquaculture

Infrastructure and Development Fund (FIDF) Scheme ?
Options :
| Marine Products Export Development Authority (MPEDA)

, National Fisheries Development Board (NFDB)

, Central Institute of Fisheries Education (CIFE)

A Coastal Aquaculture Authority (CAA)
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Wrong Marks : 0.5
Which of the following is the nodal agency for Fisheries and Aquaculture
Infrastructure and Development Fund (FIDF) Scheme ?

Options :

N Marine Products Export Development Authority (MPEDA)

, National Fisheries Development Board (NFDB)

3 Central Institute of Fisheries Education (CIFE)

A Coastal Aquaculture Authority (CAA)

Question Number : 95 Question Id : 7507821125 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

The Pradhan Mantri Matsya Sampada Yojana is an Umbrella Scheme with
two separate component namely (a) and (b)

Options :
, (@) Central Scheme and (b) State Scheme

, (a) Central Scheme and (b) NCDC Scheme



;. (@) NCDC Scheme and (b) State Scheme

(a) Central Sector Scheme (CS) and (b) Centrally Sponsored Scheme
(CSS)
4.
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Wrong Marks : 0.5

The Pradhan Mantri Matsya Sampada Yojana is an Umbrella Scheme with
two separate component namely (a) and (b)

Options :
. (a) Central Scheme and (b) State Scheme

, (a) Central Scheme and (b) NCDC Scheme
;. (@) NCDC Scheme and (b) State Scheme

(a) Central Sector Scheme (CS) and (b) Centrally Sponsored Scheme
(CSS)
4.

Question Number : 96 Question Id : 7507821126 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Wrong Marks : 0.5

For registration of primary inland fisheries co-operative society the
active fishermen members (fFamsfie afegmr) and Rs. share capital
is the essential criteria.




Options :
L 10 ; Rs. 10,000

, 25 ; Rs. 25,000
, 35; Rs. 35,000

4 10 ; Rs. 20,000
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For registration of primary inland fisheries co-operative society the
active fishermen members (fsFamsfiet afesmUR) and Rs. share capital
is the essential criteria.
Options :
10 ; Rs. 10,000

1

, 25 ; Rs. 25,000

;3 39 ; Rs. 35,000

4 10 ; Rs. 20,000
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Instruction Time : 0



Wrong Marks : 0.5
Choose the correct statement and functions of Coastal Aquaculture
Authority.
a. To make regulations for the construction and operations of aquaculture
farms within the coastal areas.

b. To inspect coastal aquaculture farms with a view to as certaining their
environment impact caused by coastal aquaculture.

c. To register coastal aquaculture farms.

d. To perform/order removal or demolition of any coastal aquaculture farm.
Options :
. a and b statements are correct

, only a statement is correct

;. @, b and d statements are correct

4 all of the above statements are correct
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Choose the correct statement and functions of Coastal Agquaculture

Authority.

a. To make regulations for the construction and operations of aquaculture
farms within the coastal areas.

b. To inspect coastal aquaculture farms with a view to as certaining their
environment impact caused by coastal aquaculture.

c. To register coastal agquaculture farms.

d. To perform/order removal or demolition of any coastal aquaculture farm.
Options :
| a and b statements are correct

) only a statement is correct
;. 4, b and d statements are correct

4 all of the above statements are correct
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For establishment of National Shipping Board following are the members.
Which statement/s is/are incorrect ?

a. Six members elected by Parliament

b. Two by the House of People

c. Two by the Council of States from among its members.
d

Other members not exceeding sixteen as the Central Government may
think fit to appoint to the Board

Options :
. &, conly

5 b only
5 &, b, c only

4 all are correct
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For establishment of National Shipping Board following are the members.
Which statement/s is/are incorrect ?

a. Six members elected by Parliament

b. Two by the House of People

c. Two by the Council of States from among its members.

d

Other members not exceeding sixteen as the Central Government may
think fit to appoint to the Board



Options :
. &, conly

5 b only

5 &, b, c only

4 all are correct
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As per Section 14 of Coastal Aquaculture Authority Act, 2005, if any person
carrying on coastal aquaculture without registration he shall be punishable

with imprisonment for a term which may extend to years or with
fine which may extend to Rs. or both.
Options :

L One year ; Rs. 2,00,000
, Five years ; Rs. 20,000
;. Two years ; Rs. 10,000

4, Three years ; Rs. 1,00,000
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As per Section 14 of Coastal Aquaculture Authority Act, 2005, if any person
carrying on coastal aquaculture without registration he shall be punishable

with imprisonment for a term which may extend to years or with
fine which may extend to Rs. or both.
Options :

L One year ; Rs. 2,00,000
, Five years ; Rs. 20,000
;. Two years ; Rs. 10,000

4 Three years ; Rs. 1,00,000
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The Maharashtra Fisheries Act, 1960 can be explained as an Act to provide
following of fisheries in the State of Maharashtra

a. Protection

b. Upgradation

c. Conservation

d. Development
Options :

L a b, c only



5 b, ¢, d only

3 &, C, d only

n all of the above
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The Maharashtra Fisheries Act, 1960 can be explained as an Act to provide
following of fisheries in the State of Maharashtra
a. Protection
b. Upgradation
c. Conservation
d. Development
Options :
L a b, c only

5 b, ¢, d only
3 &, C, d only

4 all of the above



